Section: Appendix A
Distance and Velocity Conversions

linch (in) = 0.0833ft 1 centimeter (cm) = 0.3937 in
= 0.0278 yd = 0.0328 ft
= 254 cm = 0.0109 yd
= 0.0254 m =0.01m

1 foot (ft) = 12.0in 1 meter (m) = 39.3700 in
= 0.3333 yd = 3.2808 ft
= 30.48 cm = 1.0936 yd
= 0.3048 m = 100 cm

1 mile (mi) = 63360in 1 kilometer (km) = 39370 in
= 5280 ft = 3281 ft
= 1760 yd = 1093.6 yd
= 1609 m = 0.6214 mile
= 1.609 km = 1000 m

1in/hr = 2.54 cm/hr

lcm/hr = 0.3937 in/hr

1 ft/sec =0.3048 m/s = 0.6818 mph = 1.0972 km/h
1 m/sec = 3.281 ft/s = 2.237 mph = 3.600 km/h

1 km/h =0.9114 ft/s = 0.2778 m/s = 0.6214 mph
1 mph =1.467 ft/s = 0.4469 m/s = 1.609 km/h

Source:
Davis, S.C., S.W. Diegel and R.G. Boundy. 2008, Transportation Energy Data

Book: Edition 27, ORNL-6981, Oak Ridge National Laboratory, Oak Ridge,
Tennessee.
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